

Fraction Subtraction

Common Denominators - Reducible Result - With Regrouping

Name: _____ Date: _____



Subtract.

$$\begin{array}{r} (1) \quad 6\frac{3}{14} \\ - 2\frac{13}{14} \\ \hline \end{array}$$

$$\begin{array}{r} (2) \quad 6\frac{3}{8} \\ - 3\frac{7}{8} \\ \hline \end{array}$$

$$\begin{array}{r} (3) \quad 7\frac{2}{9} \\ - 4\frac{8}{9} \\ \hline \end{array}$$

$$\begin{array}{r} (4) \quad 3\frac{4}{15} \\ - 2\frac{14}{15} \\ \hline \end{array}$$

$$\begin{array}{r} (5) \quad 3\frac{7}{10} \\ - 2\frac{9}{10} \\ \hline \end{array}$$

$$\begin{array}{r} (6) \quad 5\frac{8}{15} \\ - 4\frac{13}{15} \\ \hline \end{array}$$

$$\begin{array}{r} (7) \quad 3\frac{11}{14} \\ - 1\frac{13}{14} \\ \hline \end{array}$$

$$\begin{array}{r} (8) \quad 6\frac{5}{14} \\ - 2\frac{13}{14} \\ \hline \end{array}$$

$$\begin{array}{r} (9) \quad 3\frac{3}{10} \\ - 1\frac{9}{10} \\ \hline \end{array}$$

$$\begin{array}{r} (10) \quad 6\frac{9}{14} \\ - 2\frac{11}{14} \\ \hline \end{array}$$

$$\begin{array}{r} (11) \quad 7\frac{8}{15} \\ - 1\frac{14}{15} \\ \hline \end{array}$$

$$\begin{array}{r} (12) \quad 4\frac{8}{15} \\ - 3\frac{11}{15} \\ \hline \end{array}$$

Fraction Subtraction

Common Denominators - Reducible Result - With Regrouping

ANSWER KEY



Subtract.

$$(1) \quad \begin{array}{r} 6\frac{3}{14} = 5\frac{17}{14} \\ - 2\frac{13}{14} = 2\frac{13}{14} \\ \hline 3\frac{4}{14} = 3\frac{2}{7} \end{array}$$

$$(2) \quad \begin{array}{r} 6\frac{3}{8} = 5\frac{11}{8} \\ - 3\frac{7}{8} = 3\frac{7}{8} \\ \hline 2\frac{4}{8} = 2\frac{1}{2} \end{array}$$

$$(3) \quad \begin{array}{r} 7\frac{2}{9} = 6\frac{11}{9} \\ - 4\frac{8}{9} = 4\frac{8}{9} \\ \hline 2\frac{3}{9} = 2\frac{1}{3} \end{array}$$

$$(4) \quad \begin{array}{r} 3\frac{4}{15} = 2\frac{19}{15} \\ - 2\frac{14}{15} = 2\frac{14}{15} \\ \hline \frac{5}{15} = \frac{1}{3} \end{array}$$

$$(5) \quad \begin{array}{r} 3\frac{7}{10} = 2\frac{17}{10} \\ - 2\frac{9}{10} = 2\frac{9}{10} \\ \hline \frac{8}{10} = \frac{4}{5} \end{array}$$

$$(6) \quad \begin{array}{r} 5\frac{8}{15} = 4\frac{23}{15} \\ - 4\frac{13}{15} = 4\frac{13}{15} \\ \hline \frac{10}{15} = \frac{2}{3} \end{array}$$

$$(7) \quad \begin{array}{r} 3\frac{11}{14} = 2\frac{25}{14} \\ - 1\frac{13}{14} = 1\frac{13}{14} \\ \hline 1\frac{12}{14} = 1\frac{6}{7} \end{array}$$

$$(8) \quad \begin{array}{r} 6\frac{5}{14} = 5\frac{19}{14} \\ - 2\frac{13}{14} = 2\frac{13}{14} \\ \hline 3\frac{6}{14} = 3\frac{3}{7} \end{array}$$

$$(9) \quad \begin{array}{r} 3\frac{3}{10} = 2\frac{13}{10} \\ - 1\frac{9}{10} = 1\frac{9}{10} \\ \hline 1\frac{4}{10} = 1\frac{2}{5} \end{array}$$

$$(10) \quad \begin{array}{r} 6\frac{9}{14} = 5\frac{23}{14} \\ - 2\frac{11}{14} = 2\frac{11}{14} \\ \hline 3\frac{12}{14} = 3\frac{6}{7} \end{array}$$

$$(11) \quad \begin{array}{r} 7\frac{8}{15} = 6\frac{23}{15} \\ - 1\frac{14}{15} = 1\frac{14}{15} \\ \hline 5\frac{9}{15} = 5\frac{3}{5} \end{array}$$

$$(12) \quad \begin{array}{r} 4\frac{8}{15} = 3\frac{23}{15} \\ - 3\frac{11}{15} = 3\frac{11}{15} \\ \hline \frac{12}{15} = \frac{4}{5} \end{array}$$